108 2x10°

BIC

5x10°

2x10°

5

10

10 100

Relative Probability
1

107°107*1020.01 0.1

10*

Window Half—Width (km/s)
1000

100

2/(409685 —~5265)=0.871

BIC 420120.06 ABIC —-1.375 AIogP 0. 2986

X2 352079.72 Ax? —1.375 AlogP 0.2986 ]

. —| BIC
i ABIC —526163 733.7 <( —3836 1 2
| n -526163 —429.4 ~5567 |
5041 5041 ! 5131 5265
A ACs ACSF | | ACSBsF |
50 100 150 200 250 300 350
350 iterations
rm630 2/(409685 5265) -0.871
E '  *~ 1 - 1 v 1 r r T 1 T T
BIC 420120.06 ABIC —1.375 AlogP 0. 2986
e XZ 352079.72 Ax —1.375 AlogP "0.29886
= 5041 ' 5041 ' 5131 ' | ‘285
- A -AC? S ACSF-I ....................... AC4B
50 100
Fe2 7% 33240 km/s
rme630 BLR 10410 NLR 900 km/s
— T T v T 1 T T T T T T T T T 1 L
e BLR
- NLR
- Fell
]
50 100 150 200 250 300 350

350 iterations

kdh1 11-0ct-2021 10:54



